i#®E 1 Hello, World.

= |ist 1-1 hello_server.rb

require 'drb/drb'’

class Hello
def hello
puts('Hello, World.')
end
end

DRb.start service( 'druby://localhost:54000', Hello.new)
sleep

= |ist 1-2 hello_client.rb

require 'drb/drb'’

DRb.start service
ro = DRbObject.new with uri('druby://localhost:54000")
ro.hello
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= terminal 1

$ ruby hello server.rb

RICHHAR2 Thello_client.rbZ &9 %

= terminal 2

$ ruby hello client.rb
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JEE2 Hash

= |ist 2-1 hash_server.rb

require 'drb/drb'’
require 'pp'

front = Hash.new
DRb.start service('druby://localhost:54300', front)
while true
sleep 10
pp front
end
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= terminal 1

$ ruby hash server.rb

= terminal 2

$ irb

irb(main):001:0> require 'drb/drb'’

=> true

irb(main):002:0> DRb.start service

=> #<DRb::DRbServer:0...
irb(main):003:0> ro = DRbObject.new with uri('druby://localhost:54300")
=> #<DRb::DRbObject...

irb(main):004:0> ro[l] = 'Hello, World.'
=> "Hello, World."

irb(main):005:0> ro[l]

=> "Hello, World."

= terminal 3

$ irb

irb(main):001:0> require 'drb/drb’

=> true

irb(main):002:0> DRb.start service

=> #<DRb: :DRbServer:0...
irb(main):003:0> ro = DRbObject.new with uri('druby://localhost:54300")
=> #<DRb: :DRbObject...

irb(main):004:0> ro[l]

=> "Hello, World."

irb(main):006:0> ro[2] = 'Hello, Again.'
=> "Hello, Again."
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7EE3 Queue

= |ist 3-1 queue_server.rb

require 'drb/drb'’
require 'thread'

DRb.start service( 'druby://localhost:54320', Queue.new)
sleep

= [ist 3-2 dequeue.rb

require 'drb/drb'’

DRb.start service
queue = DRbObject.new with uri('druby://localhost:54320")
while true
P queue.pop
sleep(3)
end
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= terminal 1

$ ruby queue_server.rb

= terminal 2

$ ruby dequeue.rb

= terminal 3

S irb

irb(main):001:0> require 'drb/drb'’

=> true

irb(main):002:0> DRb.start service

=> #<DRb::DRbServer:0...

irb(main):003:0> ro = DRbObject.new with uri('druby://localhost:54320")
=> #<DRb::DRbObject...

irb(main):004:0> ro.push('Hello, World.')

=>
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iRR84 RindaZ fE > [ HA

= [ist 4-1 notify.rb

require 'rinda/tuplespace’
require 'drb/drb'’

class Notifier
def initialize
@ts = Rinda::TupleSpace.new
@ts.write([:tail, 0])
end

def notify(it)
tuple = @ts.take([:tail, nil])
tail = tuple[l] + 1
@ts.write([tail, it])
@ts.write([:tail, tail])
tail

end

def receive(key)
@ts.read([key, nil])
end
end

DRb.start service('druby://localhost:54321', Notifier.new)
sleep

= |ist 4-2 receive.rb

require 'drb/drb'’

DRb.start service
ro = DRbObject.new with uri('druby://localhost:54321")

key = 0

while true
key, obj = ro.receive(key + 1)
p [key, obj]
sleep(3)

end
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= terminal 1

$ ruby notify.rb
(T L7

= terminal 2

S irb




irb(main)
=> true
irb(main)
=> #<DRb:
irb(main)
=> #<DRb:
irb(main)
=> 1
irb(main)
=> 2

:001:0> require

:005:0> ro

'drb/drb’

:002:0> DRb.start service
:DRbServer:...
:003:0> ro
:DRbObject:
:004:0> ro

>
DRbObject.new with uri('druby://localhost:54321")
0...>

.notify('tweet')

.notify('Hello, World')
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terminal 3

$ ruby receive.rb
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